
Sharonda has 5 more cookies than Jan. Sharonda has 12 cookies. How cookies does Jan have?



Sarah had some candies.  She gave 9 to Jake.  Then, she had 15 candies left.  How many candies did Sarah have to start with?



A class was having a fundraiser. Together, Paul and Shawniqua sold 44 boxes of cookies. If Paul sold 4 less boxes than Shawniqua, how many boxes did Paul sell?



Sam has two times as many matchbox cars as Ravi. Michael has 3 less matchbox cars than Ravi. Together, they have 45 matchbox cars. How many does Ravi have?
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Key:
1. 7 cookies
2. 24 candies
3. 20 boxes
4. 12 matchbox cars
